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STATISTICS
( General )
Course : 101

( Descriptive Statistics )

The figures in the margin indicate full marks
Jor the questions

( New Course )

. Full Marks : 48
Pass Marks : 14
Time : 2 hours
1. o REPH M ol R w5 Sewh M
e - 1x5=5

Find out the correct answer from the following
alternatives in each question :

(o) RRTEE 9FR F4-2AF Ficst PR w191 71
RO O’

Students of a college divided according
to their sex is

(i) <NA5F/nominal
(i) &95F/ordinal
fiii) SEIEPPF/interval
(iv) SYISF /ratio
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(b) <51 KR n YT TRARFA Pr¥eq St MR
1 ¢ Res RS s a1

The algebraic sum of the deviations of a
set of nvalues from their arithmetic mean
is

i n
i ©
(i) 1

(iv) °RY 9GBS T
None of the above

(c) wbRRELF Ted wF NN Rewoia W oz

The best and the most powerful measure
of dispersion is

ij R
range
(i) H-594F R
semi-interquartile range
(i) TG ePRe
mean deviation
(iv) e Reew
standard deviation
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(d) FTTTR BME TZ W
The correlation coefficient is independent
of '

(i) T T=— ACKCH
scale only

(i) < FRY SWoCE
origin only

(i) T WF FEARY TSN ARCACH
both scale and origin

fiv) SRR ABRERG!
All of the above

fe) I AB) 4B =m

B 6
If (_(A—;;—) > (‘?;_? then
(i) ‘(;Af,’ < %‘;’

(iv) IR GbIe T
None of the above
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2. ooe AT T famm 2x4=8
Answer the following : 7 ‘
(a) SRR OO AT F (N1 o3 WMo “N1el
Ror T 1

Distinguish between primary and
secondary data with exampie.

(b) IO (A TIw «fS G Py

Write a note on measures of skewness.

(c) FERRT @ R qom AE, e w9

Explain why there are two regression
lines.

(d) TR TN BT A foren |

Write Yule’s coefficient of association.

3. (a). “RIRIF SUR @I 3 B9 *Rowm Rerr
%ﬁm@wwws%ﬁﬁ@ﬁ,@rﬁw,
- R 21 TR SR Woe o TR

G YI-FAR IB Sopgrem IR’ 19 AR
Q% oS 9 | 3+3+3=9

What are the different types of statistical
data? Discuss the limitationsg of statistics.
Prepare a blank table for presenting the
distribution of Students of g degree
college according to 3 classes, 2 sexes
and 3 types of residence.
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) %11/ Or
(b) TS FAARR A0 FA0 5+4=9

Explain the following : ‘

) IR R GRS Togem
Graphical - representation of
frequency distribution

(i) NARF T HF SFIPESE ¥
Nominal scale and interval scale

4, (a) IERER MY, FASH TG AF [T YA A
o TR @R I 91 R @
5o A A9 ¥ AM 2 GM 2 HM |
TR e Rewms g S PR ¥=
TS 30-6 WF 29 XA I TH AT+ 1

. 6+2+2=10
Define arithmetic mean, geometric mean
and harmonic mean and explain their
merits and demerits. For any two
variables, prove that AM 2 GM > HM. For
a moderately skewed distribution, mean
and median are 30-6 and 29 respectively,
find mode.

9491/ Or

(b) % Reem wrF amifde Reeem i frn ore
R (H-BTAR TEY A oMt ¥ A
A e Rt Reemr I amfis Rsam TyR
R 19T F91 515 REFTOLF W 715y | (I 9ol
m gamsrﬁh R 343 ¥ 0, 25, 0-7
7. RermcoR RS o qF9l

S[RP1 391 | S 54+5=10
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Define mean deviation and standard
deviation and state their merits and
demerits. Prove that for any discrete
distribution, standard deviation is not
less than mean deviation from mean. The
first four central moments of a distri-
bution are 0, 25, 07 and 187
respectively. Test the skewness and
kurtosis of the distribution.

o e R W X we v v PR
e T BT Rt 7201 1 o9 1 ¥ v
BTF -1 HF +17 TS AT | (ST @ RRY
U TR RIS DT R T SeRRe
¥R EREA | 2+2+3+2=9

What do you mean by correlation?
Determine the coefficient of correlation
between two variables Xand Y, Prove that
the coefficient of correlation lieg between
-1 and +1. Show that the coefficient of
correlation is not affected by

the change
of origin and scale.

9RT/ Or
THERT W TR QN e B qe0 R
e coae ST @1 o S | e
RR S by, = -3

W by, = -2 3 FRee

x WI¥ y3I T v Ay 4 2+5+2=9

{ Continued }




(7)

What do you mean by regression and
regression line? Find the two lines of
regression in case of a bivariate distri-
bution. Given the regression coefficients

4 9
by = 5 and bxy'=-§-6, find the coeffi-

cient of correlation between x and y.

6. (a) BT TSF I R 380 7 o1 BR TS HAEH
{ANIF, IS N9 W, I 41 1 S
Sy MRS e = 143+3=7

N =1000, (A) =510, (B)=490, (C)=427,
(AB) =189, (AC) =140, (BC) =85

What do you mean by independence of
attributes? When the two attributes are
said to be positively associated, negatively
associated or independent? Explain.
Examine the consistency of the following
data :

N =1000, (A)=510, (B)=490, (C)=427,
(AB) =189, (AC) =140, (BC) = 85

oR<r/ Or

(b) T BT T AT W Tooff SRR
sl il | 8 ol W it IR W B
T 7 CIN ARRAOPIRA We ol 31 47 |

2+1+4=7

Define complete association and disso-
ciation of two attributes. What do you
mean by classes and class frequencies?
Describe the relation between class
frequencies.
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( Old Course)

Full Marks : 80
Pass Marks : 32

Time : 3 hours
1. o RIPIR [ 4R 2nm wm Sewgh
Tforen : , 1x8=8

Find out the correct answer from the
following alternatives in each question :

(a) wﬁsmmﬁﬁﬁmﬁ

With the help of Ogive curve, one can
determine )

() ¥4/median

(ii) N/ deciles

(iii) *TOI*TF /percentiles

- (iv) SRT FABRIHI/AL of the aboye

(b) TS T, A 66 W 7o

The variable ‘height’, €.g., 66 inch is

() TRES/nominal

(i) TS /ordinal

(iii) TEPHF /interval

(iv) TLTOPF /ratio
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() TS Roe e eI Roema T STyt 2

The relationship between mean deviation
and standard deviation is

) 3 1% Reew = 2 gmifae Reem
3 mean deviation = 2 standard
deviation

i) 5 % Reew = 4 gmifis Reaa
5 mean deviation = 4 standard
deviation

(i) 6 7% ReeM = 5 gmfis Reem
6 mean deviation = 5 standard
deviation

(iv) SRR FRARBIAL T

None of the above

(d) FEe wAfem Reme (vae 114, Y e
IR AR Tl T
In case of a positive skewed distributioﬁ,
the relation between mean, median and
mode that hold is
() G > Y > IFF
median > mean > mode
(i) TG > T4 > AP
mean > median > mode
(iii) T = YA = AP
mean = median = mode
(iv) T > IEP > Y
mean > mode > median
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(e) I awm vgheM Q =20 WF POW iy
Q3 =50, (= 9¥F Roem 27

If the first quartile Q; =20 and the third
quartile Q3 =50, then the quartile
deviation is

i 35

i) 15

(iii) 25

(iv) 30

() T TSR I TR DI SNRA T 2

The correlation coefficient between two
independent variables is

6 -1
i) o
i) 1
(i)

(g) SHERT (I A H-F90 ﬁm-{’q

The regression equations intersect at the
point

6 ©0
) (%0
(iii) ©, )
) &3
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(AB) _©of)

(r) et aww B LB - O o (o

| @ @
AY®F B

If for two attributes A and B, @- = m,
@

then A and B are
) T8
independent
(i} EEP A
positively associated
(i) AT TRAT=A
negatively associated
fiv) SR LI
All of the above

2. we ficARa T fia 2x8=16
Answer the following :

(@)
(v)

(c)

po/188

onafie TR (N o K fi o
Define primary and secondary data.

SIASF TPl FcE B G o

Write a note on ratio scale.

Wwﬁmw’iﬂﬁﬁmaﬁw
e ¥

Define mode and state any one use of
mode.
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(d) IRFAREG ITH TR NF T2 o e

(e)

(9)

(h)

3. ﬁ@ﬂ@lmwm

=2
What do you mean by raw and central
moments of frequency distribution?

I IFoR 9o «fS GR foran |

Write a note on kurtosis.

(ST @ FPTTA BT TARTY WF (R 1
[ I |
Show that coefficient of correlation is

independent of change of origin and
scale.

TR BIRFY PR Ay T4

State the properties of regression
coefficient.

R QI Y HF QF FELUE S
Compare Yule’s coefficients Y and Q.

Answer any two questions :

(a)

p9/188

m«m@ﬁm%ﬂﬂwmﬁﬁsﬁmw

W7 R @RIR R 3167 w90 2+5=7

What are the graphs that are used for

presenting a frequency distribution?
Discuss these graphs.

{ Continued )
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(b) R IRIT o0 I B @ 2 9T oy A
Rfen i3 Raca foran i 2+5=7

What do you mean by statistical data?
Describe different methods of collection
of primary data.

(c) I G foa : 3%+3%=7
Write short notes on : ‘

(i) R R e afonf

Statistical population and sample

(i) we o7 =% 9% B

-Bar diagram and pie diagram

4. R Q0N W 2R Te ey 8x2=16
Answer any fwo questions :

(a) RFa 1o It R 3w 2 RRT e Remorr
TR S P 1 9% oRER Rets qriy
TR B IR R R =, |

1+4+3=8
What do you mean by the measures of
dispersion? Define different types of
measures of dispersion. Which of these
measures is considered to be the best
measure of dispersion and why? Explain.
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(b) FE RS Mot o R 3e 2 9O ! B

()

2RO o NN PR R R 2 31 et
R 3 2 teiRTeIa T e Rdfa IR 1R 2
2+2+2+2=8

What do you mean by measures of central
tendency? What are the properties of an
ideal measure of central tendency? What

do you mean by median? How do you
determine median graphically?

B 35T SRR A B g wERes T
Rl 791 7@ B 1 r-ow el e e

- CTR AT AR o Bdrea | 2+2+4=8

What do you mean by skewness of a
distribution? Write down the different
formulae of determining skewness.
Obtain the relation between the central
moment of order r in terms of raw
moments.

5. @ @A P! 2R Ty oy 7x2=14

Answer any two questions :

(a) W O I B qo2 TR ar o R

p9/188

¢l ¥? XTI ARTH Y3 bt D o o
FRNFIRH TRH F41 1 1+2+4=7

What do you mean by a regression line?
Why are there two such lines? Also derive
the equation of the regression line of Y
on X.
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(p) oTT 94 I Giof TR A0 90

{c)

81 ¥ T PRTasa SToTes =4 13 W ST

-1 9% +19 K9 AT | 3+4=7
Explain with example the meaning and
significance of correlation. Show that the
value of Karl Pearson’s coefficient of
correlation r always lies between -1
and +1. '

o T 37 PAEREER W o 8N

R 7 TR 1 1S SN RN ?
2+4+1=7

What is rank correlation? Derive

Spearman’s formula for determining

rank correlation. When is it used?

6. R TN T 2R Ty faam - 6x2=12
Answer any fwo questions :

(@)

)

po/188

@9 1A ¥ 331 2 fi == (4) = 90, (AB) = 40,

N =150 9% (B)=80. gl 4R * 2x2)
ol AR oS | 1+5=6
What do you mean by attributes? Given
(4)=90, (AB)=40, N=150 and () = 80.
Prepare the (2 x2) contingency table.

S ol Iforeat & o1 2 7 @, o 2q e
o1 87 A, B, C3 ¥ afda véompg Teme
41 2+4=6
What do you mean by consistency of - '
data? Write down the conditions of

con.sistency for a single attribute, two
attributes and three attributes A, B, C.
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(c) O VR TS ALAEH A FNS, 4TS A
T W, I T oA @

2
0=
1+y

TS, 8=%[(AB)(aﬁ)—(AB)(aB)]- 3+3=6

When are two attributes said to be
positively associated, negatively associ-
ated or independent? Explain. Show that

2
o=—Y
l+y

where, & = [(ABJ(of) ~ (4B) o)

* Kk
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